
  df]n'ª ufpFkflnsf j8f g+ #,k|fKrfsf]  sfo{If]qut Joo cg'dfg cg';"rL–%

        cf=j= @)&^÷&&

                 cf=j= @)&%÷&^ df  cf=j=@)&^÷&& df

;+s]t g+=  lalgof]lht ah]6  lalgof]lht ah]6 cfGtl/s >f]t

                  zLif{s  cGt/ ;/sf/L ljTtLo x:tfGt/0f C0f hg;xeflutf

g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

!      cfly{s ljsf;

@ ;fdflhs ljsf;

2.1 l;Dn] lrnfpg] s'nf] dd{t 100000

2.2 au/ sfsL{ufpF s'nf] 100000

2.3 e'd]:yfg l;FrfO{ s'nf] d{dt 50000

2.4 cf]Rk'n d8lsgL l;FrfO{ 50000

2.5 v'n' vf]N;f km'onufpF s'nf] d{dt 50000

2.6 tfKs]8fF8f vfg]kfgL 50000

2.7 u'8u'8] vfg]kfgL 30000

2.8 ;fljs k|fKrf !,@ / # vfg]kfgL 50000

2.9 ;'gjtL cf=lj= 100000

2.10 rDkfb]jL cf=lj= 150000

2.11 e'd]b]jL cf=lj= 100000

2.12 ;]tLb]jL cf=lj= 50000

2.13 afnaflnsf 50000

2.14 blnt 20000

2.15 dlxnf 50000

hDdf 1000000

# k"jf{wf/ ljsf;

3.1 ;]KnL vfN6] rf}tf/f df]6/af6f] 400000

3.2 y'DsL ls8flbd df]6/af6f] 400000

3.3 au/ s]/faf/L df]6/af6f] 300000

3.4 e'd]b]jL u}/faf/L tfKs] 8fF8f ;8s 50000

3.5 cf]kL e'd]:yfg lrnfpg] ;8s 200000

3.6 lkmnf? uf]dg 8fF8f ;8s 100000

3.7 s'G8nfb]jL cfdf;d'x 6\jfO{n]6 lgdf{0f 50000

3.8 sfsL{ufpF cfdf ;d"x ejg lgdf{0f 300000

3.9 s]:k' e'ne'n] 3f]8]6f] af6f] 50000



3.10 km'onufpF cfdf ;d'x ejg kmlg{r/ 50000

3.11 y'DsL cfdf ;d"x ejg d{dt 100000

3.12 e'd]b]jL k|ltIffno 100000

hDdf 2100000

$ jftfj/0f tyf ljkb Joj:yfkg

% ;+:yfut ljsf;,k|jfx / ;'zf;g

s'n hDdf 3100000


